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QUESTION 1
Single-select the incorrect description of the Huawei Oceanstor 9000 software module-item
A. OBS (Object-Based Store) is the file system metadata and File data provides reliable object storage function

B. CA (Chent Agent) is responsible for the semantic analysis of application protocols such as NFS/CIFS/FTP, and
sends it to the underlying module for processing

C. Snapshots, tiered storage, remote replication and other value-added features are provided by the PVS module
D. MDS (MetaData Service) manages the metadata of the file system, each node of the system can store all metadata

Correct Answer: D

QUESTION 2

In the era of single-choice big data, traditional technology upgrades can no longer meet the needs of big data
processing. Which of the following is not big data?

A. Computing is developing towards clustering

B. is developing towards virtualization

C. The network develops in a higher direction, lower protocol overhead, and more effective direction.
D. From non-relational database to relational database development

Correct Answer: D

QUESTION 3

In the HyperMetro active-active data center solution, if there is a bad block on a LUN of an array member. Which of
following statement is incorrect?

A. When repairing a bad block, you must first apply for read permission and confirm the local read permission of the
active-active pair.

B. When reading the local LUN of the array, after the bad block is read, if the error cannot be repaired, the host read
error is returned information.

C. When reading the local LUN of the array, after reading the bad block, if the error is repairable, return the read data to
the host to confirm Ensure that the host responds quickly.

D. When reading the local LUN of the array, after reading the bad block, if the error cannot be repaired, the system will
repaired.

Correct Answer: B
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QUESTION 4

When using Huawei OceanStor BCManagereReplication to configure primary and secondary disaster recovery, which of
the following operations is not necessary of?

A. Add storage devices and hosts
B. Create a protection group

C. Configure the site

D. Configure the host group

Correct Answer: D

QUESTION 5

In the Simpana software, the following components are included
1.

MediaAgert

2.

CommServe

3.

IDataAgent

The following description of the order of upgrade components is correct.
A. A.1->2->3

B. B.1->3->2

C.C.2->1->3

D. D.3->1->2

Correct Answer: C
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